RERM T—55

o2 [RFL (BE#ME) o2 [RFL (BE#RE)
HE L (cfug) ﬂ%ﬁ(cfu/g) Xﬂﬁ%ﬁ FE K (cfug) ﬂ%ﬁ(cfu/g) Xﬂﬁ%ﬁ

FTHUIR 100~ 1000 <100 INLE 1000~ 150000 <280
V2 10000~ 1000000 <50 [i,%'ri TS558 -F 1\ 10000~ 100000 <130 B%'ri
4¥3y 10000~ 10000000 <200 =43 HwoLIvY 10000~ 100000 <80 [(=3k3
ay 1000~ 100000000 <50 =4k Ry 10000~ 10000000 <330 (=4k3
IJyma¥x 1000000~ 10000000 <130 =43 <h 100000~ 1000000 <380 [(=3k3
REEE 1000~ 1000000 <100 =4k <AAE 1000~ 100000 <50 (=4k3
*TAYE) 100000~ 1000000 <120 [=4k3 LY 100~ 100000 <50 [(=3k3
FER=To(A9dy) 1000~ 10000 <110 (=43 RHEIHY 100~ 10000 <100 (=4k3
AR TAZTY) 100000~ 100000000 <590 [=4k3 YILE 100~ 10000 <100 [(=3k3
A)—J% FERT—4%40 <160 =4k ax 1000~ 10000 <110 (=4k3
h¥HS 100~ 10000000 <90 =43 JEX 10000~ 1000000 <330 [(=3k3
AV 1000~ 100000000 <300 =3 Shoh 1000~ 1000000 <50 (=4k3
h/avty 1000~ 100000 <350 =43 L1 100~ 10000 <70 [(=3k3
"5+ 10000~ 10000000 <390 =4k A—Xkev7 100~ 100000 <50 (=4k3
houry 1000000~ 100000000 <870 (=4k3
*¥37 100~ 100000 <150 (=34k3
*4F7AT 1000~ 10000 <50 [(=3k3
FLRTUILARSE ERT—4%L <60 (=43 EEH RES
HJaAmE 1000000~ 10000000 <120 [(=3k3
T4E 100~ 10000 <380 (=34k3
r—IL 10000~ 10000000 <250 [(=3k3
J—v 10000~ 10000000 <50 (=34k3
=y, ) 1000~ 10000 <80 [(=3k3
avyr 10000~ 10000000 <90 (=34k3
YIS 1000~ 100000 <340 [(=3k3
2avH 1000~ 100000000 <270 (=34k3
=) 1000~ 1000000 <340 [(=3k3
AAaFE 1000~ 100000 <130 (=4k3
eV we) 100000~ 1000000 <360 [(=3k3
AIRF 1000~ 10000 <900 (=4k3
Faoo 1000~ 10000 <600 [(=3k3
FUE 1000~ 100000 <50 (=34k3
HtAS 100~ 100000 <500 [(=3k3
ZHEE FERT—4%40 <520 et
ke 1000~100000 <50 Ratt JERI BRE®
(N2 100000~ 1000000 <100 =3 1000000cfu/gkl £ 40cfu/g



